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I. Translate any two of the following passages into English: -                                    2x3=6 
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II. Explain any two of the following verses in English: -                               2x2=4 

 الحبس ليس مذهبي و ليس فيه طربي

 غابات ربي غايتي والعيش فيها مطلبي

أستقي أذهب  فيها من ماء نبع  أعذب  
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III. Conjugate any one of the following: -                                                              1x3½=3½ 

IV. Find the error in the following sentences and rewrite each sentence correctly: -   

                           3x1=3 

V. Filling in the blanks with suitable conjugation using the verb given in the bracket:- 

3x½=1½ 

VI. Make four sentences using any four of the following verbs -                              4x½=2 

@@@@ THE END @@@@ 


